
Economic Commission for Latin America and the Caribbean (ECLAC). Life Tables.
Demographic Observatory, Latin America and the Caribbean (LC/PUB.2017/20-P).
Santiago: United Nations, 2017.
Downloaded from https://www.cepal.org/en/node/44746 (14.01.2019).

https://www.cepal.org/en/node/44746


OBSERVATORIO
DEMOGRÁFICO

América Latina
y el Caribe

DEMOGRAPHIC
OBSERVATORY
Latin America  
and the Caribbean

2 0 1 7

Tablas de  
mortalidad

Life 
tables



165

CEPAL • América Latina y el Caribe. Observatorio Demográfico 2017	 Tablas de mortalidad

Cuadro 17 (continuación 1)/Table 17 (continued 1)
Paraguay: tablas abreviadas de mortalidada

Paraguay: abridged life tables 
a

1960

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.074 0.070  100 000  6 989  94 712 0.918 b 6 187 921 61.9
1 4 0.008 0.032  93 011  2 930  364 377 0.977 c 6 093 209 65.5
5 5 0.002 0.009  90 081   781  448 452 0.993 5 728 832 63.6

10 5 0.001 0.006  89 300   514  445 215 0.993 5 280 379 59.1
15 5 0.002 0.009  88 786   765  442 018 0.990 4 835 164 54.5
20 5 0.002 0.011  88 021   942  437 751 0.989 4 393 147 49.9
25 5 0.002 0.011  87 079   960  432 998 0.988 3 955 396 45.4
30 5 0.003 0.012  86 120  1 072  427 918 0.986 3 522 398 40.9
35 5 0.003 0.016  85 047  1 336  421 897 0.981 3 094 480 36.4
40 5 0.004 0.022  83 711  1 844  413 947 0.973 2 672 583 31.9
45 5 0.007 0.033  81 868  2 709  402 567 0.958 2 258 636 27.6
50 5 0.010 0.050  79 159  3 983  385 837 0.937 1 856 069 23.4
55 5 0.016 0.077  75 176  5 812  361 350 0.904 1 470 233 19.6
60 5 0.025 0.117  69 364  8 128  326 500 0.855 1 108 883 16.0
65 5 0.038 0.176  61 236  10 772  279 249 0.785  782 383 12.8
70 5 0.060 0.263  50 464  13 286  219 104 0.686  503 135 10.0
75 5 0.095 0.384  37 178  14 266  150 223 0.560  284 031 7.6
80 5 0.147 0.531  22 911  12 162  84 152 0.427  133 808 5.8
85 5 0.209 0.664  10 750  7 137  35 904 0.309  49 656 4.6
90 5 0.280 0.772  3 612  2 787  11 093 0.214  13 752 3.8
95 5 0.354 0.849   825   701  2 373 0.108 d  2 659 3.2

100 ω 0.433 1.000   124   124   287   287 2.3
Mujeres/Females

0 1 0.065 0.062  100 000  6 191  95 268 0.930 b 6 585 555 65.9
1 4 0.006 0.023  93 809  2 160  369 540 0.982 c 6 490 287 69.2
5 5 0.002 0.007  91 648   687  456 523 0.994 6 120 748 66.8

10 5 0.001 0.005  90 961   449  453 682 0.994 5 664 225 62.3
15 5 0.001 0.006  90 512   580  451 109 0.993 5 210 542 57.6
20 5 0.001 0.007  89 932   665  447 996 0.992 4 759 433 52.9
25 5 0.002 0.009  89 267   793  444 349 0.990 4 311 437 48.3
30 5 0.002 0.011  88 473   933  440 032 0.988 3 867 088 43.7
35 5 0.003 0.013  87 540  1 155  434 812 0.985 3 427 056 39.1
40 5 0.004 0.017  86 385  1 508  428 154 0.979 2 992 244 34.6
45 5 0.005 0.025  84 877  2 100  419 134 0.970 2 564 090 30.2
50 5 0.007 0.036  82 777  2 989  406 412 0.955 2 144 956 25.9
55 5 0.011 0.053  79 788  4 247  388 322 0.932 1 738 545 21.8
60 5 0.017 0.083  75 541  6 249  362 083 0.894 1 350 223 17.9
65 5 0.028 0.132  69 292  9 171  323 532 0.830  988 140 14.3
70 5 0.048 0.214  60 121  12 847  268 488 0.734  664 608 11.1
75 5 0.080 0.333  47 274  15 722  197 067 0.607  396 120 8.4
80 5 0.129 0.485  31 553  15 290  119 538 0.466  199 053 6.3
85 5 0.191 0.629  16 263  10 236  55 723 0.338  79 515 4.9
90 5 0.263 0.750  6 027  4 519  18 835 0.233  23 792 3.9
95 5 0.340 0.838  1 507  1 263  4 381 0.116 d  4 957 3.3

100 ω 0.425 1.000   245   245   576   576 2.4

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


